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Add and Subtract Greater Numbers

Add 38,093 + 82,861.

Step 1 Step 2 Step 3 Step 4
Line up the digits Add tens. Add hundreds. Add thousands and
in the ones place. Regroup if Regroup if ten thousands.
Add ones. necessary. necessary. Regroup
Regroup if thousands if
necessary. necessary.
1 1 1 1
38,093 38,093 38,093 38,093
+82,861 +82,861 +82,861 +82,861
4 54 954 120,954
Add or subtract. Estimate to check.
1. 51,392 2. 45846 3. 40,944
—13,097 +31,329 —15,564
4. 19,132 5. 93,806 6. 348,932
—15,636 +17,987 —245,871
7. 459,092 8. 667,732 9. 48,321
+362,932 +129,009 —43,929
10. 57,129 + 42,632 11. 96,128 — 63,549
12. 345,983 + 382,382 13. 13,871 — 10,923
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Add and Subtract
Greater Numbers

During cold seasons, some birds migrate, or move, to warmer
climates. The table shows the distance that some birds fly when
they migrate. Use the table for Problems 1-4.

1. How much farther did the Arctic Tern

. Bird Distance
migrate than the Barn Swallow? (miles)
Arctic Tern 12,500

) Northern Wheatear 10,000
2. How many more miles would the

Short-tailed Shearwater have to Short-tailed 8,500

migrate to have migrated as far as the Shearwater

Northern Wheatear? Swainson’s Hawk 7,500
Red Knot 5,750
Barn Swallow 3,750

3. The distance listed for the Red Knot
may actually be half of the distance the Show your work.
bird traveled during the year. If this is
so, how far did the bird migrate in a
year?

4. Using your answer from Problem #3,
how many miles does the Red Knot
travel in 3 years?

5. An ostrich is the heaviest bird and can
weigh as much as 345 pounds. The
whale shark is the heaviest shark and
can weigh as much as 26,000 pounds!
How much heavier is the shark than
the ostrich?
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